
A113 A114

N
H
$
�

NH^¿

A-5-1.1&NH^¿

1+'(

(1)<=�äå{ÖÍ

�ãT��� LH$��7:��ËÌk ,����

}?���{�!

NSKM-Vk�"#k67��
67���§k

�¿rçèÒ�!Ôa-.¯<�Û�VÏ+���

±���:�$�?�{�!Õ^ LH$�±�'�

+ 1.3���� 2�
*1
!

=B���
�;��+C´����)*+��!

*1A$�`�ã

(2)Í:'{�æ�çè

»¼Ï+ÜÝâ½������º��ÜÝ/´�

�QR!Õ` LH q­��bMt!

(3)¥�ÂÃ+ LH,SH^¿½n

�����ÖF���¨����EF�4�®©j

EF��éF���ê�ò7:� LH$��SH$

�Õ�!¤ª�qIP��(=8- NH$�!

(4)é)ê´{ï<[OPòë

òN'uv� DFÖ�\f�-.��K	�[Õ�

«¢�òó��),y?°�`EFÁ�:§°�

ÊÜ��!

(5)YsOP�@�^yë

¼-.¹��z 50��ÅBk�h��������

�°!

: 2&øùÞ;: (
k�'*ÓÔ )

: 1&NH^¿

A

Q

B

M

1

: 3&@�rI

2 4

: 4&��iÍ+l�

W

h

[\)  :8-LH$��SH$��ãT�^_8-`a�NH$�! 
 NS$��b$��c$d[\A319`e�!

2.,X�r

 Ò�cEFh [Õ*�

G* (kkA±� /�kA[Õ;� )
 ���* .���*

 ��æ� ;*

AN
BN

AN BN

AL
BL

EM
GM

AL BL

EM GM

(6)¢ðñ@���
^yë

�¢NOçèzæ�ZÄÆÒ��Ôa¼çè�wy

å��»)z 2 	-.�É$%�������-a

kh� �(8�l Ú:-.�¯/v*��!

(7)Í�i

�æ�ZÄÆÒ�w�
Ä 4 ��NQ��«��

NOçè������i�î£u»ñ!

(8)QROìÝUF¥Ü

(8M��kå'[Õ�:ghHg�NO/¬±

Òd!

(9)5}íîÝÂÃ^¿�

�}$�w�:}F}f�[ÕÒ��ÅB=��Å

:-í!

(10)ßàêìÒë

»¼��ò[Õ�@AÂ�$�+�=��J<K

L!
:��2 / w�¢G*!(���¾â¿� )

L1 L1

L1 L1

L1 L1



A115 A116

N
H
$
�

NH^¿

C

A

D

B

W2

H

 
KL

C

A

D

B

H

W3 (
 )

KL

C

A

D

B

W2

H

KL

D
C

A

B

W3

H

KL

# 2

(2)�iEz
��j2��z�¢HI�:.���2 P3,.��2 P4���2 P5����2 P6�D»2 PN �F!@
A?��
:D»2 PC���2 PH!
fg«¬���iEz

3.�i�fg

(1)��[�i
(3)�i+fg|	#

# 1 
�Aμm


�Aμm

# 4

(4)|�ÂÃ

: 5&'�Íï�

: 6&m��

Ö�¨�W2

Ö�¨�W2

Ö�¨�W3

Ö�¨�W3

§¨��iEz
# 3 
�Aμm

 ��j2 ��2 PH ¦D»2 PC
 ��?????????????   *� LH15, 20, 25, 30, 35 LH45 LH15, 20, 25, 30, 35 LH45, 55, 65
 ÖF�� H ±20 ±30 ±20 ±30
 ÖF�� H�Õ@� 15� 20� 15� 20�
  30¢ 35¢ 30¢ 35¢
 ÖF¨�`W2 ×W3 ±30 ±35 ±30 ±35

 ÖF¨�`W2 ×W3 �Õ@� 20 20 25 30
 Õ` A ¯� C ¯�îlî� [óÄ 5�Ä 6�� 1 [óÄ 5�Ä 6�� 1 Õ` B ¯� D ¯�îlî�


C ) � z�\��k�Õ@�   ¢�·%��k�Õ@�!

    �¢HI�   @A?��

 ��S; .��� .�� �� ���2 D»2 ��2 D»2

 (mm) P3 P4 P5 P6 PN PH PC
 50B� 2 2 2 4.5 6 2 6
 50~80 2 2 3 5 6 3 6
 80~125 2 2 3.5 5.5 6.5 3.5 6.5
 125~200 2 2 4 6 7 4 7
 200~250 2 2.5 5 7 8 5 8
 250~315 2 2.5 5 8 9 5 9
 315~400 2 3 6 9 11 6 11
 400~500 2 3 6 10 12 6 12
 500~630 2 3.5 7 12 14 7 14
 630~800 2 4.5 8 14 16 8 16
 800~1 000 2.5 5 9 16 18 9 18
 1 000~1 250 3 6 10 17 20 10 20
 1 250~1 600 4 7 11 19 23 11 23
 1 600~2 000 4.5 8 13 21 26 13 26
 2 000~2 500 5 10 15 22 29 15 29
 2 500~3 150 6 11 17 25 32 17 32
 3 150~4 000 9 16 23 30 34 23 34

 
    ��j2

  .���2 .��2 ��2 ���2 D»2 ��2 D»2

  ¤�[
q NSK K1 P3 P4 P5 P6 PN PH PC

  :�[
q NSK K1 K3 K4 K5 K6 KN KH KC

 :°�ijJP- NSK K1 F3 F4 F5 F6 FN FH FC

 �¥¦

 Z0 
C C C C C ~ ~

 ��¢!

 Z1 
C C C C C ~ ~

 w�¢!

 Z3 
C C C C ~ ~ ~

 @A�?�¥¦

 ZT 
~ ~ ~ ~ ~ ~ C

 @A�?��¢!

 ZZ 
~ ~ ~ ~ ~ C C

 @A�?w�¢!

 ZH 
~ ~ ~ ~ ~ C C

�      

¢

  ��j2 .��� .�� �� ���2 D»2
 �� P3 P4 P5 P6 PN
 ÖF�� H ±10 ±10 ±20 ±40 ±80
 ÖF�� H�Õ@� 3 5 7   15   25
 (\`���[ÕSÁ%e )
 ÖF¨�W2×W3 ±10 ±15 ±25 ±50 ±100
 ÖF¨�W2×W3�Õ@� 3 7   10   20  30
 (Ë�¢[ÕSÁ%e )
 Õ` A¯� C¯�îlî�   "[óÄ 5�Ä 6�� 1
 Õ` B¯� D¯�îlî�



A117 A118

N
H
$
�

NH^¿

§¨��rð>fgÖ

5.¥�

(1)¥�«¬ñ­)

(2)¥���±ò�Í>³´ R

: 7 : 8

: 10&,X?D�¥��: 9&��?D�¥��

(5)fg@�>hi

�¢HI���¢:w�¢ Z3���¢ Z1���¢ Z0MF��z@A?��
:w�¢ ZH���¢ ZZ,
�¥¦ ZT!

fg«¬��fg@�>hi

# 9 mm

  ( ) 
  ra rb H' H"
 NH15 0.5 0.5 4.5 5
 NH20 0.5 0.5 4.5 5
 NH25 0.5 0.5 5 5
 NH30 0.5 0.5 6 6
 NH35 0.5 0.5 6 6
 NH45 0.7 0.7 8 8
 NH55 0.7 0.7 10 10
 NH65 1 1 11 11

# 6 
�Aμm

e1

e2

500

ra

H'

ra

H''rb

rb

# 5

  ???????
�¢�� (N)

  ??????.�� (N/μm)
 ?????*�   ??????k�h�  ??????�lh�

  ��¢ (Z1) w�¢ (Z3) ��¢ (Z1) w�¢ (Z3) ��¢ (Z1) w�¢ (Z3)
 NH15 ANcEM 78 490 137 226 98 186
 NH20 ANcEM 147 835 186 335 137 245
 NH25 ALcANcEM 196 1 270 206 380 147 284
 NH30 ALcAN 245 1 570 216 400 157 294
 NH30 EM 294 1 770 265 480 186 355
 NH35 ALcANcEM 390 2 350 305 560 216 390
 NH45 ALcANcEM 635 3 900 400 745 284 540
 NH55 ALcANcEM 980 5 900 490 910 345 645
 NH65 ANcEM 1 470 8 900 580 1 070 400 755
 NH15 BNcGM 98 685 196 345 137 284
 NH20 BNcGM 196 1 080 265 480 196 355
 NH25 BLcBNcGM 245 1 570 294 560 216 400
 NH30 BLcBNcGM 390 2 260 360 665 265 480
 NH35 BLcBNcGM 490 2 940 430 795 305 570
 NH45 BLcBNcGM 785 4 800 520 960 370 695
 NH55 BLcBNcGM 1 180 7 050 635 1 170 440 835
 NH65 BNcGM 1 860 11 300 805 1 480 550 1 040

.
�
�
�
*

�
�
�
*


C ) �¥¦ Z0q¥¦z (0~3μm)ÅB�¢��zÀ!
 ôÇ PN2� Z0z 0~15μm!

 
*�

 �¥¦ ��¢ w�¢

  ZT ZZ ZH
 NH15 –4 ~ 15 –4~0  –7 ~ –3
 NH20  –5~0  –8 ~ –3
 NH25  –5~0  –9 ~ –4
 NH30  –7~0 –12 ~ –5
 NH35  –7~0 –12 ~ –5
 NH45  –7~0 –14 ~ –7
 NH55  –9~0 –18 ~ –9
 NH65  –9~0 –19~–10

–5 ~ 15


C ) ���~�¢e (¿r�J?�Òe )

4.��}V~�
� 7 z
ë���r�©ª (V�;� )!

  ëì��j2¬��r�;�:��!
# 7&��}V~� 
�Amm


C ) .¼k�Å~;� �=Bá-��!l¥dò NSK�#!

$� ��
1d 15 20 25 30 35 45 55 65

NH
���¾¿ 2 980 3 960 3 960 4 000 4 000 3 990 3 960 3 900
¬À¿ 1 800 3 500 3 500 3 500

�� �¢
*�

NH15 NH20 NH25 NH30 NH35 NH45 NH55 NH65

2u�lî�Ã�ãe1

Z0 ZT 22 30 40 45 55 65 80 110
Z1 ZZ 18 20 25 30 35 45 55  70
Z3 ZH 13 15 20 25 30 40 45  60

2u���Ã�ãe2
Z0 ZT 375μm/500mm

Z1 ZZ Z3 ZH 330μm/500mm

# ó μm

6.ôõâÍ:i
NH$��«3V�b�òEF���8-n��õÁ�+�Âj¬�±:�+!\]8-�Â��BMî
10,000Kmz�� �«3V�b�=[\� 10!ªX.¼BkMî©Æ×b�8- �dò NSK�#!

# 10&ôõâÍ:i m/min
��

$�
15 20 25 30 35 45 55 65

NH 300 200 150



A119 A120

N
H
$
�

NH^¿

: 12&�,R�T�¥���

7.�,R�T

ca������[d[ó A38cD13 Y!

(1)�,R�T�23

�[³CÛñ�Ñ-��-�
Ä 11c� 11Å~!

ëìx�´cghcNSK K1 jC��ÀÂ�
:$

; (L)¬���[ÀÂ!=¼��-TXY���*

��[-ÀÂÖFKL!

 ä-4²�hZ×ä-4�[³�hZ£ªX�

q�[-ÀÂ$�;� �dò NSK D�!

XY¬À¿1d��[-ÀÂ �d� NSK æç!

(2)�,R�T�¥���

�[³CÛñ��*����ÇEF�[Õ�Ø

¯��zUú�/=EF�ØÙ�¢¯ (Ä 12)!

  ¼�[³CÛñ�Ñ-��-�EFP[ÕZ=

k¯×÷¢¯ �d� NSK æç!

É8-��*�w� M6×1 �ºÂ �ªX

M6×0.75 ��[³CÛñEF��`�!NSK 


:ùúÀÂ�d�ú!

(   3    A          B            C
M6×0.75 R1/8

SF

M6×0.75 R1/8

LF

M6×0.75 R1/8

Rc1/8 Rc1/8

L L L

L L L L

L

: 11&�,Wb��>óR¤�ªö
# 11

   �[³CÛñ Ñ-��-�
 $��� ��æ� ñ<Û*CÛñ

   L�� L��
  ��   5 –
 NH15 Ú NSK K1 10 –
  x�´ * –
  gh * –
  ��   5 –
 NH20 Ú NSK K1 12 –
  x�´ 10 –
  gh 10 –
  ��   5 5
 NH25 Ú NSK K1 12 12
  x�´ 10 9
  gh 10 9
  ��   5 6

 NH30 Ú NSK K1 14 13
  x�´ 12 11
  gh 12 11
  ��   5 6
 NH35 Ú NSK K1 14 13
  x�´ 12 11
  gh 12 11
  ��   8 17

 NH45 Ú NSK K1 18 21.5
  x�´ 14 17
  gh 14 17
  ��   8 17
 NH55 Ú NSK K1 18 21.5
  x�´ 14 17
  gh 14 17
  ��   8 17
 NH65 Ú NSK K1 20 25.5
  x�´ 16 19
  gh 16 17

*) ªXEF-Þ�d� NSK æç!

mm

8.���T

(1)CDEz

(2) NSK K1TM

$��[Õz��Í��ÎÛ[Õ«Á�[Õ

��Ø¯�:¢�´��^¯�:��´!

: 13

NSK K1
2 

L

NSK K1  
1

V1
V2 N

 
NH15

  AN EM 55 65.6 
4.5 0.8 (5)

   BN GM 74 84.6
 

NH20
  AN EM 69.8 80.4 

4.5 0.8 (14)
   BN GM 91.8 102.4

 NH25
  AL AN EM 79.0 90.6 

5.0 0.8 (14)
   BL BN GM 107 118.6
   AL AN 85.6 97.6 
 NH30  EM 98.6 110.6 5.0 1.0 (14)
   BL BN GM 124.6 136.6
 

NH35
  AL AN EM 109 122 

5.5 1.0 (14)
   BL BN GM 143 156
 

NH45
  AL AN EM 139 154 

6.5 1.0 (15)
   BL BN GM 171 186
 

NH55
  AL AN EM 163 178 

6.5 1.0 (15)
   BL BN GM 201 216
 

NH65
  AN EM 193 211 

8.0 1.0 (16)
   BN GM 253 271

mm

- NSK K1 EF ���
� 12Å~!

C 1) °�ijIP- NSK K1`p LH12~LH35!
 2)  F: NSK K1 [Õ;� =(ö��[Õ;�÷) + (öNSK K1\Îa�÷V1×NSK K1%e )+(öHgäa�÷V2×2)!

# 13

# 12&®&,X=>wxy (â;) )

�AN

$� ??   ?  �� 15 20 25 30 35 45 55 65

 NH 8 9 10 10 12 17 22 29

V1V2V2

N
V1

L

NSK K1



A121 A122

N
H
$
�

NH^¿

(3)�=>

`��Ñ���4EF �d,-�� 14wÅ�

~�x�´ÖÂ (Ä 14)!

¼x�´EFá�Í��[³CÛñEFPØÙ

k �ªX
Ä 14Å�~�`�!

(4)F�

Bá`��Ñ5��4EF �d,-
� 15Å

�~�ghF�!(Ä 15)

ghEFá�¼�[³C³ñFÛØÙ �ªX


Ä 15Å~�`�hÎ!

*) <Û*�[³CÛñ�`�EFdò NSKæç!

# 15&F��T

 *�
 xÄ*� a�Ie

  ¤`� :`� V4

 NH15 LH15PT-01 * 2.7

 NH20 LH20PT-01 LH20PTC-01 2.9

 NH25 LH25PT-01 LH25PTC-01 3.2

 NH30 LH30PT-01 LH30PTC-01 4.2

 NH35 LH35PT-01 LH35PTC-01 4.2

 NH45 LH45PT-01 LH45PTC-01 4.9

 NH55 LH55PT-01 LH55PTC-01 4.9

 NH65 LH65PT-01 LH65PTC-01 5.5

# 14& �=>�T

  *�
 xÄ*� a�Ie

  ¤`� :`� V3

 NH15 LH15WS-01 * 2.5

 NH20 LH20WS-01 LH20WSC-01 2.5

 NH25 LH25WS-01 LH25WSC-01 2.8

 NH30 LH30WS-01 LH30WSC-01 3.6

 NH35 LH35WS-01 LH35WSC-01 3.6

 NH45 LH45WS-01 LH45WSC-01 4.3

 NH55 LH55WS-01 LH55WSC-01 4.3

 NH65 LH65WS-01 LH65WSC-01 4.9

   *� ÖÂxÄ*�

 NH20 LH20FS-01
 NH25 LH25FS-01
 NH30 LH30FS-01
 NH35 LH35FS-01
 NH45 LH45FS-01
 NH55 LH55FS-01
 NH65 LH65FS-01

(7)wx��

23£��Ø�:
� 18Å~�23£�%ÂÖ

Â!%ÂÖÂw�\�WF: A55 YÄ 7.7 Å~

�23£�%Â\��Í'®¯ (M1�M2)} 2 ë

�M2 -�hµ 2 �!

23£��: 4 �Í'®¯ , hµ!

$���Ñ���4ÖF23£� �d8-

� 18�23£�%ÂÖÂ!


K��ÁÂw8- NSK K1�x�´�gh�%

ÂÖÂ�¢�®¯¤ 8-�dæç NSK!

����,�lEF � z23£�I4�


A56 YÄ 7.10 Å~�['h�ÅB¤ 8-»)

«�%Â!�ùF&'������Ø¯Ð:E

F��-®¯�23£�k�EF&¢«���

k!��Ø¯�®3��ÖF�WL �Ô NSK

45!

(6)�=>(5)��¥��R�

 xã=Br�� 16Å�~�«�´!

# 17

 $� *�

 NH NH20cNH25cNH30cNH35cNH45cNH55cNH65

# 16&��¥��R�

# 18& wx��÷T|TH{5}

??
*�

 ��EF 'Ù

  ®B xÄ*� 
#Q%e

 NH12 M3 LG-CAP/M3 20� /Q

 NH15 M4 LG-CAP/M4 20� /Q

 NH20 M5 LG-CAP/M5 20� /Q

 NH25 M6 LG-CAP/M6 20� /Q

 NH30cNH35 M8 LG-CAP/M8 20� /Q

 NH45 M12 LG-CAP/M12 20� /Q

 NH55 M14 LG-CAP/M14 20� /Q

 NH65 M16 LG-CAP/M16 20� /Q

: 16

: 14&�=> : 15&F�

(mm) (mm)

V3 V4

2



A123 A124

N
H
$
�

NH^¿

# 20& � (BL)_>wx��Úi mm

  BL  2 4 6 8 10 12 14 16 18 20
  Lmin 34 68 102 136 170 204 238 272 306 340
 JAH20N  106 212 318 424 530 636 742 848 954 1 060
  Lmax 140 280 420 560 700 840 980 1 120 1 260 1 400
 

JAH25L
  106 212 318 424 530 636 742 848 954 1 060

  Lmax 140 280 420 560 700 840 980 1 120 1 260 1 400
 

JAH25N
  176 352 528 704 880 1 056 1 232 1 408 1 584 1 760

  Lmax 210 420 630 840 1 050 1 260 1 470 1 680 1 890 2 100
 

JAH30L
  134 268 402 536 670 804 938 1 072 1 206 1 340

  Lmax 168 336 504 672 840 1 008 1 176 1 344 1 512 1 680
 

JAH30N
  176 352 528 704 880 1 056 1 232 1 408 1 584 1 760

  Lmax 210 420 630 840 1 050 1 260 1 470 1 680 1 890 2 100
 

JAH35L
  176 352 528 704 880 1 056 1 232 1 408 1 584 1 760

  Lmax 210 420 630 840 1 050 1 260 1 470 1 680 1 890 2 100
 

JAH35N
  246 492 738 984 1 230 1 476 1 722 1 968 2 214 2 460

  Lmax 280 560 840 1 120 1 400 1 680 1 960 2 240 2 520 2 800
 

JAH45L
  176 352 528 704 880 1 058 1 232 1 408 1 584 1 760

  Lmax 210 420 630 840 1 050 1 260 1 470 1 680 1 890 2 100
 

JAH45N
  316 632 948 1 264 1 580 1 896 2 212 2 528 2 844 3 160

  Lmax 350 700 1 050 1 400 1 750 2 100 2 450 2 800 3 150 3 500
 

JAH55L
  246 492 738 984 1 230 1 476 1 722 1 968 2 214 2 460

  Lmax 280 560 840 1 120 1 400 1 680 1 960 2 240 2 520 2 800
 

JAH55N
  386 772 1 158 1 544 1 930 2 316 2 702 3 088 3 474 3 860

  Lmax 420 840 1 260 1 680 2 100 2 520 2 940 3 360 3 780 4 200
 

JAH65N
  386 772 1 158 1 544 1 930 2 316 2 702 3 088 3 474 3 860

  Lmax 420 840 1 260 1 680 2 100 2 520 2 940 3 360 3 780 4 200
C ) BL% 3c5c7ß(%ã=-Õ)� BL�%ãÕ4àáPB 2"§!

wx��ÂÃ#

NH^¿

# 19&wx��ÂÃ

wx���øùú}

 J  A  H  2 0  N  0 8

wx��

A,ûüwx��

B,£rwx��

LHRwx��

BL_ (�_ )

N,Í5&L,�5

�����ÂÃú}

: 17&wx��ÂÃ#

mm

  H h1 E W P a b BL  M1  M2

 JAH20N 29.5 24.5 5 48 10 13 22 17 M3 5 M2.5 16
 JAH25L 35 28 

7
 51 10 

16 26 17
 

M3 5 M3 18 JAH25N 39 32  61 15
 JAH30L 41 32 

9
 60 12 

18 31 17
 

M4 6 M4 22 JAH30N 44 35  66 15
 JAH35L 47 37.5 

9.5
 72 15 

24 34 17
 

M4 6 M4 23 JAH35N 54 44.5  82 20
 JAH45L 59 45 

14
 83 15 

32 44.5 17
 

M5 8 M5 28 JAH45N 69 55  103 25
 JAH55L 69 54 

15
 101 20 

40 50.5 17
 

M5 8 M5 30 JAH55N 79 64  121 30
 JAH65N 89 73 16 131 30 48 61 17 M6 8 M6 35

Lmax
Lmin

M2M1

h1
H

E

P

a
W

b



A125 A126

N
H
$
�

NH^¿

# 21& ¡�#���|}

 W � « �

 C ���¾¿ (NSK��12 )

 K ¬À¿ (LH08~30)

 D ���¾¿ +�¯ß�

 H ¬À¿ +�¯ß�

 Z q�c��

9.H{5}

æ�ñ�á�Ë4�}h���k�u�ÆÇâÛKL��*�Äj�u�!WL d-ù�xÄ*�!


ªX*Ó
cæ�67�rj«� �d{|P���4u�Bõ��+!

Ö��@A�����[Õ�xÄ*�ò�¢HI��=$Õ�!

�¢W�z TA�¥¦�cZA��¢�cHAw�¢� ([e A116)!

  NH 30 1200 AN C  2 -     P5 3
$�5

��

��;� (mm)

[ÕÒ�W� ([e A114)

12c�¯ß�W� ([e� 21)
C:���¾¿ (NSK��12 )cKA¬À¿12

�¢W� ([e A116)
0 : Z0c1 : Z1c3 : Z3

��W� ([e� 22)

��u�
�4�»ZxÄ*�w!


ë���[Õ%

  NAH 30 AN S Z -K
[Õ
Â$�W�

NAHANH$�  [Õ
Â

��

[ÕÒ�W� ([e A114)

 U�W�
 -KANSK K1���

 -FAá+�nyz +AS2�[³

 -F50Aá+�nyz +LG2�[³

�¢W�
¤W�A�¥¦ÂcZA��¢�cHAw�¢�

12W�
¤W�A���¾¿ (��12 )cS¬À¿12

(1)fg«¬��H{5}

(2)§¨��H{5}

,X®T�H{5}

C ) @A����2 / w�¢���¬`p¬À¿12!

# 22&�i|}

 ��j2 �� (¤�[
q NSK K1)  :�[
q NSK K1 :°�cijIP- NSK K1

 .���2 P3 K3 F3

 .��2 P4 K4 F4

 ��2 P5 K5 F5

 ���2 P6 K6 F6

 D»2 PN KN FN

 ��2@A� PH KH FH

 D»2@A� PC KC FC

C ) ca�[
q NSK K1 d[ó A38cA61Y!

  N1H 30 1200 L C N -     PC Z
��
Â$�W�

N1HANH$� ��
Â

��

��;� (mm)

��Ò�W�AL
LA��

12c�¯ß�W� ([e� 21)

�¢W�

TA�¥¦�cZA��¢� (w�¢»- ) ([e A116)

��W�
PHA��2@A�

PCAD»2@A�

��u�
�4�»ZxÄ*�w!

*á-æ�â�
N:,á-æ� L:á-æ�

*ªXá-æ���� �d� NSKæç!

��®TH{5}



A127 A128

N
H
$
�

NH^¿

L1

T1

(N ) L

J

L1

T1

(N ) L

J

h

D

H1

d

F

G

L0

n×F (G)

MPO

MRO

T

K
H

E

W2 W1

W

B

4-M×l

MYO

D

H1

L0

n×F

F

(G)G
W1

d

h

4-M×�

B

W

W1

T

K

E

H

MRO

MYO

W2

T1

L

MPO

J

L1

(N )

T1

L

J

L1

(N )

10.ÂÃ#
NH-AN (Í@�5 /CD )
NH-BN (õÍ@�5 /Ú5 )

AN*¢¯Ä

BN*¢¯Ä

ANcBN*»¯Ä

§¨���®��H{5}

*ªXá-æ���� �d� NSKæç!

 N1H 30 1200 L C N        PC Z
��®�^¿|}

N1H,NH^¿ ��®�

ÂÃ

��Úi (mm)

���r|},L
L:CD

 ¡�#���|} (µÑ# 21)

fg|}

T: Ërð��Z,Ëfg��£fgãR (µÑ A116)

�i|} 
PH: �=A§¨��PC: ýã§¨�

UFú}

þ²W�*H{5}£×

*©ªEz�}

 N:6©ªEz L:©ªEz

§¨{��,X®��H{5}

ANcBN* AN* BN*

 NAH 30 AN S Z -K
 ,X®�^¿|}
NAH,NH^¿  ,X®�

ÂÃ

,X�r|} (µÑ A114)

4j|}
     

 -K,NSK K1¤��
      -F,������ +AS2�,W
      -F50,������ +LG2�,W

fg|}
d|},Ërð��Z: Ëfg� H: £fg�

 ¡|}
d|},'�Íï� (CD ¡ )�S,m�� ¡

 NH 30 1200 AN C 2        PC Z
^¿�

ÂÃ

��Úi (mm)

,X�r|} (µÑ A114)

 ¡�#���|} (µÑ# 21)

C:'�Íï� (NSKCD ¡ )�K,m�� ¡

fg|} (µÑ A116)

0 : Z0�1 : Z1�3 : Z3�T : ZT�Z : ZZ�H : ZH

 �i|} (µÑ# 22)

UFú}

þ²W�*H{5}£×

®u���,X_

H E W W L L1 K T W H F d D h

G

( )

L0max

(  ) SUS

2) (N m)

(kg) (kg/m)B J M× ×� T1 N
[50km]
C50(N)

[100km]
C100(N)

C0

(N)
MRO MPO MYO

(1 ) (2 ) (1 ) (2 )
NH15AN

28  4.6  9.5  34
 55  ?

26  26 M4×0.7×6
 39

23.4  8 E3  8.5  3.3 15 15  60 4.5×7.5×5.3 20  ?
2 980  14 200  11 300  20 700   108     94.5    575    79.5    480  0.18

 1.6
NH15BN  74  ?  58 (1 800)  18 100  14 400  32 000   166    216  ?  1 150   181  ?    965  0.26
NH20AN

30  5  ? 12   44
 69.8

32
 36

M5×0.8×6
 50

25  ? 12 M6×0.75  5  ? 11  ? 20 18  60 6×9.5×8.5 20  ?
3 960  23 700  18 800  32 500   219    185  ?  1 140   155  ?    955  0.33

 2.6
NH20BN  91.8  50  72 (3 500)  30 000  24 000  50 500   340    420  ?  2 230   355  ?  1 870  0.48
NH25AN

40  7  ? 12.5  48
 79  ?

35
 35

M6×1×9
 58

33  ? 12 M6×0.75 10  ? 11  ? 23 22  60 7×11×9 20  ?
3 960  33 500  26 800  46 000   360    320  ?  1 840   267  ?  1 540  0.55

 3.6
NH25BN 107  ?  50  86 (3 500)  45 500  36 500  71 000   555    725  ?  3 700   610  ?  3 100  0.82
NH30AN

45  9  ? 16   60
 85.6

40
 40

M8×1.25×10
 59

36  ? 14 M6×0.75 10  ? 11  ? 28 26  80 9×14×12 20  ?
4 000  41 000  32 500  51 500   490    350  ?  2 290   292  ?  1 920  0.77

 5.2
NH30BN 124.6  60  98 (3 500)  61 000  48 500  91 500   870  1 030  ?  5 600   865  ?  4 700  1.3 ?
NH35AN

55  9.5 18   70
109  ?

50
 50

M8×1.25×12
 80

45.5 15 M6×0.75 15  ? 11  ? 34 29  80 9×14×12 20  ? 4 000
 62 500  49 500  80 500   950    755  ?  4 500   630  ?  3 800  1.5 ?

 7.2
NH35BN 143  ?  72 114  81 000  64 500 117 000 1 380  1 530  ?  8 350 1 280  ?  7 000  2.1 ?
NH45AN

70 14  ? 20.5 86
139  ?

60
 60

M10×1.5×17
105

56  ? 17 Rc1/8 20  ? 13  ? 45 38 105 14×20×17 22.5 3 990
107 000  84 500 140 000 2 140  1 740  ?  9 750 1 460  ?  8 150  3.0 ?

12.3
NH45BN 171  ?  80 137 131 000 104 000 187 000 2 860  3 000  ? 15 600 2 520  ? 13 100  3.9 ?
NH55AN

80 15  ? 23.5 100
163  ?

75
 75

M12×1.75×18
126

65  ? 18 Rc1/8 21  ? 13  ? 53 44 120 16×23×20 30  ? 3 960
158 000 125 000 198 000 3 600  3 000  ? 16 300 2 510  ? 13 700  4.7 ?

16.9
NH55BN 201  ?  95 164 193 000 153 000 264 000 4 850  5 150  ? 26 300 4 350  ? 22 100  6.1 ?
NH65AN

90 16  ? 31.5 126
193  ?

76
 70

M16×2×20
147

74  ? 23 Rc1/8 19  ? 13  ? 63 53 150 18×26×22 35  ? 3 900
239 000 190 000 281 000 6 150  4 950  ? 27 900 4 150  ? 23 400  7.7 ?

24.3
NH65BN 253  ? 120 207 310 000 246 000 410 000 8 950 10 100  ? 51 500 8 450  ? 43 500 10.8 ?

2) ISO (ISO14728-1 14728-2)
 C50 50km C100 100km
3) /

1) 

mm



A129 A130

N
H
$
�

NH^¿

J
L1

L

D

D
F

G (G)n×F
L0

(N )

T1

h
H1

MPO

4-M×�
B
W

W2 W1

T

K

E

H

MRO

MYO

J
L1

L(N )

T1

MPO

J
L1

L

T1

(N )

T1

J
L1

L(N )

4-M×�
B
W

W1W2

T

K

E

H

MRO

MYO

D

H1

L0

n×F

F

(G)G
W1

d

h

NH-AL (Í@�5 /CD )
NH-BL (õÍ@�5 /Ú5 )

BL*¢¯Ä

AL* BL*ALcBL*

ALcBL*»¯Ä

^¿�

ÂÃ

��Úi (mm)

,X�r|} (µÑ A114)

 ¡�#���|} (µÑ# 21)
C,'�Íï� (NSKCD ¡ )�K,m�� ¡

fg|} (µÑ A116)

0 : Z0�1 : Z1�3 : Z3�T : ZT�Z : ZZ�H : ZH

�i|} (µÑ# 22)

UFú}
þ²W�*H{5}£

®u���,X_

§¨���®��H{5}

*ªXá-æ���� �d� NSKæç!

 ��®�^¿|}
N1H,NH^¿ ��®�

ÂÃ

��Úi (mm)

���r|},L
L:CD

 ¡�#���|} (µÑ# 21)

fg|}
T: Ërð��Z,Ëfg��£fgãR (µÑ A116)

�i|} 
PH: �=A§¨�  PC: ýã§¨�

UFú}
þ²W�*H{5}£

*©ªEz�}

 N:6©ªEz L:©ªEz

§¨�,X®��H{5}

,X®�^¿|}

NAH,NH^¿  ,X®�

ÂÃ

,X�r|} (µÑ A114)

4j|}

      -K,NSK K1¤��
      -F,������ +AS2�,W
      -F50,������ +LG2�,W

 fg|}
d|},Ërð��Z: Ëfg��H: £fg�

 ¡|}

d|},'�Íï� (CD ¡ )�S,m�� ¡

AL*¢¯Ä

 NH 30 1200 AL C 2        PC Z

 NAH 30 AL S Z -K

 N1H 30 1200 L C N        PC Z

H E W W L L1 K T W H F d D h

G

( )

L0max

(  ) SUS

2) (N m)

(kg) (kg/m)B J M× ×� T1 N
[50km]
C50(N)

[100km]
C100(N)

C0

(N)
MRO MPO MYO

(1 ) (2 ) (1 ) (2 )
NH25AL 36  7  ? 12.5  48  79  ? 35 35 M6×1×6  58 29  ? 12 M6×0.75  6 11 23 22  60 7×11×9 20  ? 3 960  33 500  26 800  46 000   360   320  1 840   267  1 540 0.46  3.6
NH25BL 107  ? 50  50 (3 500)  45 500  36 500  71 000   555   725  3 700   610  3 100 0.69
NH30AL 42  9  ? 16  ?  60  85.6 40 40 M8×1.25×8  59 33  ? 14 M6×0.75  7 11 28 26  80 9×14×12 20  ? 4 000  41 000  32 500  51 500   490   350  2 290   292  1 920 0.69  5.2
NH30BL 124.6 60  98 (3 500)  61 000  48 500  91 500   870 1 030  5 600   865  4 700 1.16
NH35AL 48  9.5 18  ?  70 109  ? 50 50 M8×1.25×8  80 38.5 15 M6×0.75  8 11 34 29  80 9×14×12 20  ? 4 000  62 500  49 500  80 500   950   755  4 500   630  3 800 1.2 ?  7.2
NH35BL 143  ? 72 114  81 000  64 500 117 000 1 380 1 530  8 350 1 280  7 000 1.7 ?
NH45AL 60 14  ? 20.5  86 139  ? 60 60 M10×1.5×10 105 46  ? 17 Rc1/8 10 13 45 38 105 14×20×17 22.5 3 990 107 000  84 500 140 000 2 140 1 740  9 750 1 460  8 150 2.2 ? 12.3
NH45BL 171  ? 80 137 131 000 104 000 187 000 2 860 3 000 15 600 2 520 13 100 2.9 ?
NH55AL 70 15  ? 23.5 100 163  ? 75 75 M12×1.75×13 126 55  ? 15 Rc1/8 11 13 53 44 120 16×23×20 30  ? 3 960 158 000 125 000 198 000 3 600 3 000 16 300 2 510 13 700 3.7 ? 16.9
NH55BL 201  ? 95 164 193 000 153 000 264 000 4 850 5 150 26 300 4 350 22 100 4.7 ?

mm

2) ISO (ISO14728-1,14728-2)
     C50 50km   C100 100km 
3) /

 1)



A131 A132

N
H
$
�

NH^¿

NH-EM (Í@�5 /CD )
NH-GM (õÍ@�5 /Ú5 )

EM*¢¯ÄEMcGM*»¯Ä

GM*¢¯Ä

EM*EMcGM* GM*

^¿�

ÂÃ

��Úi (mm)

,X�r|} (µÑ A114)

 ¡�#���|} (µÑ# 21)
C:'�Íï� (NSKCD ¡ )�K,m�� ¡

 fg|} (µÑ A116)
0 : Z0�1 : Z1�3 : Z3�T : ZT�Z : ZZ�H : ZH

�i|} (µÑ# 22)

UFú}
þ²W�*H{5}£

®u���,X_

§¨���®��H{5}

*ªXá-æ���� �d� NSKæç!

  
��®�^¿|}

N1H,NH^¿ ��®�

ÂÃ

��Úi (mm)

���r|},L
L:CD

 ¡�#���|} (µÑ# 21)

fg|}

T: Ërð��Z,Ëfg��£fgãR (µÑ A116)

�i|} 
PH: �=A§¨�  PC: ýã§¨�

UFú}

þ²W�*H{5}£

 *©ªEz�}

N:6©ªEz L:©ªEz

§¨�,X®��H{5}

,X®�^¿|}

NAH,NH^¿  ,X®�

ÂÃ

,X�r|} (µÑ A114)

4j|}
    -K,NSK K1¤��
    -F,������ +AS2�,W
    -F50,������ +LG2�,W

fg|}
d|},Ërð��Z: Ëfg��H: £fg�

 ¡|}
d|},'�Íï� (CD ¡ )�S,m�� ¡

J
L1

L(N)

T1

J
L1

L

T1

(N )

MPO

D

d
F

G n×F (G)

L0

h
H1

B

W

W1

T

K

E

H

MRO

MYO

W2

4-M ×
(   Q2) J

L1

L

T1

(N)

MPO

J
L1

L(N )

T1

D

H1

L0

n×F

F

(G)G
W1

d

h

MYO

B

W

W1

T

K

E

H

MRO

W2

4-M×�
( Q2)

 NH 30 1200 EM C 2        PC Z
 NAH 30 EM S Z -K

 N1H 30 1200 L C N        PC Z

 1)
 2)

3) ISO (ISO14728-1,14728-2)
 C50 50km  C100 100km 
4) /

H E W W L L1 K T W H F d D h

G

( )

L0max

(  ) SUS

3) (N m)

(kg) (kg/m)B J M× ×� Q2 T1 N
[50km]
C50(N)

[100km]
C100(N)

C0

(N)
MRO MPO MYO

(1 ) (2 ) (1 ) (2 )
NH15EM 24  4.6 16  ?  47  55  ?  38  30 M5×0.8×7  4.4  39 19.4 8 E3  4.5  3.3 15 15  60 4.5×7.5×5.3 20  ? 2 980  14 200  11 300  20 700   108     94.5    575    79.5    480  0.17  1.6
NH15GM  74  ?  58 (1 800)  18 100  14 400  32 000   166    216.0  1 150   181.0    965  0.25
NH20EM 30  5  ? 21.5  63  69.8  53  40 M6×1×9.5  5.3  50 25  ? 10 M6×0.75  5  ? 11  ? 20 18  60 6×9.5×8.5 20  ? 3 960  23 700  18 800  32 500   219    185.0  1 140   155.0    955  0.45  2.6
NH20GM  91.8  72 (3 500)  30 000  24 000  50 500   340    420.0  2 230   355.0  1 870  0.65
NH25EM 36  7  ? 23.5  70  79  ?  57  45 M8×1.25×10

(M8×1.25×11.5)  6.8  58 29  ? 11
(12) M6×0.75  6  ? 11  ? 23 22  60 7×11×9 20  ? 3 960  33 500  26 800  46 000   360    320.0  1 840   267.0  1 540  0.63  3.6

NH25GM 107  ?  86 (3 500)  45 500  36 500  71 000   555    725.0  3 700   610.0  3 100  0.93
NH30EM 42  9  ? 31  ?  90  98.6  72  52 M10×1.5×12

(M10×1.5×14.5)  8.6  72 33  ? 11
(15) M6×0.75  7  ? 11  ? 28 26  80 9×14×12 20  ? 4 000  47 000  37 500  63 000   600    505.0  3 150   425.0  2 650  1.2 ?  5.2

NH30GM 124.6  98 (3 500)  61 000  48 500  91 500   870  1 030.0  5 600   865.0  4 700  1.6 ?
NH35EM 48  9.5 33  ? 100 109  ?  82  62 M10×1.5×13  8.6  80 38.5 12 M6×0.75  8  ? 11  ? 34 29  80 9×14×12 20  ? 4 000  62 500  49 500  80 500   950    755.0  4 500   630.0  3 800  1.7 ?  7.2
NH35GM 143  ? 114  81 000  64 500 117 000 1 380  1 530.0  8 350 1 280.0  7 000  2.4 ?
NH45EM 60 14  ? 37.5 120 139  ? 100  80 M12×1.75×15 10.5 105 46  ? 13 Rc1/8 10  ? 13  ? 45 38 105 14×20×17 22.5 3 990 107 000  84 500 140 000 2 140  1 740.0  9 750 1 460.0  8 150  3   ? 12.3
NH45GM 171  ? 137 131 000 104 000 187 000 2 860  3 000.0 15 600 2 520.0 13 100  3.9 ?
NH55EM 70 15  ? 43.5 140 163  ? 116  95 M14×2×18 12.5 126 55  ? 15 Rc1/8 11  ? 13  ? 53 44 120 16×23×20 30  ? 3 960 158 000 125 000 198 000 3 600  3 000.0 16 300 2 510.0 13 700  5   ? 16.9
NH55GM 201  ? 164 193 000 153 000 264 000 4 850  5 150.0 26 300 4 350.0 22 100  6.5 ?
NH65EM 90 16  ? 53.5 170 193  ? 142 110 M16×2×24 14.6 147 74  ? 23 Rc1/8 19  ? 13  ? 63 53 150 18×26×22 35  ? 3 900 239 000 190 000 281 000 6 150  4 950.0 27 900 4 150.0 23 400 10   ? 24.3
NH65GM 253  ? 207 310 000 246 000 410 000 8 950 10 100.0 51 500 8 450.0 43 500 14.1 ?

mm



A157 A158

NS^¿
N

S
$
�

A-5-1.4&NS^¿

1.'(

(1)<=�äå{ÖÍ

�ãT��� LS$��7:��ËÌk ,����

}?���{�!

NSKM-Vk�"#k67��
67���§k

�¿rçèÒ�!Ôa-.¯<�Û�VÏ+���

±���:�$�?�{�!Õ^ LH$�±�'�

+ 1.3���� 2� *1
!

=B���
�;��+C´����)*+��!

*1A$�`�ã

(2)Í:'{�æ�çè

»¼Ï+ÜÝâ½������º��ÜÝ/´�

�QR!Õ` LSq­��bMt!

(3)¥�ÂÃ+ LS,SS^¿½n

�����ÖF���¨����EF�4�®©

jEF��éF���ê�ò7:� LS$��SS
$�Õ�!¤ª�qIP��(=8- NS$�!

(4)é)ê´{ï<[OPòë

òN'uv� DFÖ�\f�-.��K	�[Õ�

«¢�òó��),y?°�`EFÁ�:§°�

ÊÜ��!

(5)YsOP�@�^yë

¼-.¹��z 50��ÅBk�h�������

��°!

: 2&øùÞ;: ( 
k�'*ÓÔ )  

: 1&NS ^¿

: 3&@�rI

: 4&��iÍ+lÖ

A
Q

B

M

δ1

2 4

W

h

L1 L1

L1
L1

2.,X�r

Ò�cEFhZ
[Õ

*�

G* (kkA±� /�kA[Õ;� )
 w��* ���*
 J* ��*

AL
CL

CL AL

EM
JM

JM EM

(6)¢ðñ@���
^yë

�¢NOçèzæ�ZÄÆÒ��Ôa¼çè�wy

å��»)z 2 	-.�É$%�������-a

kh� �(8�l Ú:-.�¯/v*��!

(7)�iÍ

�æ�ZÄÆÒ�w�
Ä 4 ��NQ��«��

NOçè������i�î£u»ñ!

(8)QROì �UF¥Ü

(8M��kå'[Õ�:ghHg�NO/¬±

Òd!

(9)5}íî�ÂÃ^¿�

�}$�w�:}F}f�[ÕÒ��ÅB=��Å

:-í!

(10)ßàêìÒë

»¼��ò[Õ�@AÂ�$�+�=��J<KL!


:��2 / w�¢G*!(���¾â¿� )

[\)  8ê8-LS$��SS$��ãT�^_8-`a�NS$�! 
NS$�òb$��c$d[\A319`e�!



A159 A160

NS^¿
N

S
$
�

C

A

D

B

H

W2 KL(
)

C

A

D

B

H

W3KL (
)

B

C

A

D

H

W2 KL

C

A

D

B

H

W3KL

§¨���iEz

  ��j2 ��2 D»2

 ��  PH PC
 ÖF��H  920 920
 Öv��H �Õ@�  15� 15�
   30¢ 30¢
 ÖF¨���W2 ×W3  930 930
 ÖF¨���W2 ×W3 �Õ@�  20 25
 Õ` A ¯� C¯�îlî�  

"[óÄ 5�Ä 6�� 1 [óÄ 5�Ä 6�� 1 Õ` B ¯� D¯�îlî� 

# 3 
�Aμm

C ) �z�\���Õ@�?¢z·%��k�Õ@�

3.�i�fg

(1)��[�i

(2)�iEz

��j2��z�¢HI�
:.���2 P3c.��2 P4c��2 P5c���2 P6cD»2 PN �F�

�z@A�
:��2 PH, D»2 PC!

fg«¬���iEz

(4)|�ÂÃ

(3)�i+fg|	#

# 1 
�Aμm


�Aμm

  ��j2 .��� .�� �� ���2 D»2
 �� P3 P4 P5 P6 PN

 ÖF��H ±10 ±10 ±20 ±40 ±80
 ÖF��H �Õ@� 3 5 7 15 25
 (\`���[ÕÒ% )
 ÖF¨���W2×W3 ±15 ±15 ±25 ±50 ±100
 ÖF¨���W2×W3�Õ@� 3 7 10 20 30
 (Ë�¢[ÕÒ% )
 Õ` A¯� C¯�îlî�   [óÄ 5�Ä 6�� 1
 Õ` B¯� D¯�îlî�

# 4

: 5&'�Íï�

: 6&m��

ÖF¨�W2

ÖF¨�W2

ÖF¨�W3

ÖF¨�W3

# 2

    �¢HI�   @A?��

 ��;� .���2 .��2 ��2 ���2 D»2 ��2 D»2

 (mm) P3 P4 P5 P6 PN PH PC
 .¼ ~ 50B� 2 2 2 4.5 6 2 6
 50~80 2 2 3 5 6 3 6
 80~125 2 2 3.5 5.5 6.5 3.5 6.5
 125~200 2 2 4 6 7 4 7
 200~250 2 2.5 5 7 8 5 8
 250~315 2 2.5 5 8 9 5 9
 315~400 2 3 6 9 11 6 11
 400~500 2 3 6 10 12 6 12
 500~630 2 3.5 7 12 14 7 14
 630~800 2 4.5 8 14 16 8 16
 800~1 000 2.5 5 9 16 18 9 18
 1 000~1 250 3 6 10 17 20 10 20
 1 250~1 600 4 7 11 19 23 11 23
 1 600~2 000 4.5 8 13 21 26 13 26
 2 000~2 500 5 10 15 22 29 15 29
 2 500~3 150 6 11 17 25 32 17 32
 3 150~4 000 9 16 23 30 34 23 34

     ��j2

  .���� .��2 ��2 ���2 D»2 ��2 D»2

 ¤�[
q NSK K1 P3 P4 P5 P6 PN PH PC

 :�[
q NSK K1 K3 K4 K5 K6 KN KH KC

 :°�ijJP- NSK K1 F3 F4 F5 F6 FN FH FC

 �¥¦

 Z0 
C C C C C ~ ~

 ��¢

 Z1 
C C C C C ~ ~

 w�¢

 Z3 
C C C C ~ ~ ~

 @A� �¥¦ 
~ ~ ~ ~ ~ ~ C ZT

 @A� ��¢
 ZZ 

~ ~ ~ ~ ~ C C

 @A� w�¢
 ZH 

~ ~ ~ ~ ~ C C

�   

¢



A161 A162

NS^¿
N

S
$
�

# 6 
�Aμm

§¨�rð>fgÖ

�
�
�
*

w
�
�
*

5.¥�

(1)¥�«¬ñ­)

(2)¥��±²Íi>³´ R

: 7 : 8

: 10&,X?D�¥��: 9&��?D�¥��

# 8

C ) �¥¦ Z0 q¥¦z (0~3�m) ÅB�¢��zÀ!

 ôÇ PN 2 Z0 z (0~15�m)!

(5)fg@�+hi

�¢��z�¢HI�
:w�¢ Z3c��¢ Z1��¥¦ Z0MF��z@A�
:��¢ ZZc�¥¦ ZT!

fg«¬��fg@�+hi

# 9
mm

μm

C ) ���~�¢e (NO�J?�Òe )!

# 5

  ???????
�¢�� (N)

  ??????�� (N/�m)

 ?????*�   ??????k�h�  ??????�lh�

   ��¢ (Z1) w�¢ (Z3) ��¢ (Z1) w�¢ (Z3) ��¢ (Z1)  w�¢ (Z3)

 NS15 ALcEM 69 390 127 226 88 167

 NS20 ALcEM 88 540 147 284 108 206

 NS25 ALcEM 147 880 206 370 147 275

 NS30 ALcEM 245 1 370 255 460 186 345

 NS35 ALcEM 345 1 960 305 550 216 400

 NS15 CLcJM 49 294 78 147 59 108

 NS20 CLcJM 69 390 108 186 78 137

 NS25 CLcJM 98 635 127 235 88 177

 NS30 CLcJM 147 980 147 275 108 206

 NS35 CLcJM 245 1 370 186 335 137 245

  ( ) 
  ra rb H' H"
 NS15 0.5 0.5 4 4
 NS20 0.5 0.5 4.5 5
 NS25 0.5 0.5 5 5
 NS30 0.5 0.5 6 6
 NS35 0.5 0.5 6 6

 
*�

 �¥¦ ��¢ w�¢

  ZT ZZ ZH

 NS15 –4~15 –4~0 –7~–3

 NS20 –4~15 –4~0 –7~–3

 NS25 –5~15 –5~0 –9~–4

 NS30 –5~15 –5~0 –9~–4

 NS35 –5~15 –6~0 –10~–4

e1

e2

500

ra

H'

ra

H''rb

rb

 ??
?�� �¢

   *�

   LS15 LS20 LS25 LS30 LS35

  Z0cZT 20 22 30 35 40
 2u�lî�Ã�ã e1 Z1cZZ 15 17 20 25 30
  Z3cZH 12 15 15 20 25

 2u���Ã�ã e2
 Z0cZT   375μm/500mm 

  Z1cZZcZ3cZH   330μm/500mm

4.��}V~�

�� 7 w��~
ë���r�©ª (V�;� )!

 ôÇ�-��j2¬�r�©ª/¬�!

# 7 ��}V~�

 
$�

 ��

  1d 
15 20 25 30 35

 
NS

 ���¾¿ 2 920 3 960 3 960 4 000 4 000

  ¬À¿ 1 700 3 500 3 500 3 500 3 500

mm

C ) .¼k�;� �=-s-��n`p�dò NSKD�!

6+ôõâÍ:i
NS$��«3V�b�òEF���8-n��õÁ�+�Âj¬�±:�+!\]8-�Â��BMî
10,000Kmz�� �«3V�b�=[\� 10!ªX.¼BkMî©Æ×b�8- �dò NSK�#!

# 10&ôõâÍ:i m/min
��

$�
15 20 25 30 35

NS 300



A163 A164

NS^¿
N

S
$
�

: 12&�,R�T¥���

8.���T

(1)CDEz

$�wzµ¶��ÎÛ[Õ«Á��[Õ�Ø

���¢�´hÎc^Á���^Á�´hÎB

�z��æ��»)&'�=�-8-!

: 13
# 12&®&,X=>wxy (â;) )

N

$�  ??        
� 15 20 25 30 35

 NS 8 9 9 9 10

 
NS15

    AL EM 56.8 66.4 
4.0 0.8 (5)

     CL JM 40.4 50

 
NS20

    AL EM 65.2 75.8 
4.5 0.8 (14)

     CL JM 47.2 57.8

 
NS25

    AL EM 81.6 92.2 
4.5 0.8 (14)

     CL JM 59.6 70.2

 
NS30

    AL EM 96.4 108.4 
5.0 1.0 (14)

     CL JM 67.4 79.4

 
NS35

    AL EM 108 121 
5.5 1.0 (14)

     CL JM 77 90

mm# 13

(2) NSK K1TM

EF ���
� 13Å~!

7.�,R�T

ca������[�d[ó A38cD13 Y!

(1)�,R�T�23

�[³CÛñ�Ñ-��-�
Ä 11c� 11 Å~!

ëìx�´cgh�NSK K1jC��ÀÂ�
:$

; (L)¬���[-ÀÂ!

=¼��-TXY���*��[-ÀÂÖFcKL!

 4²×4�[³�£ªX�q�[-ÀÂ$�;

� �dò NSK D�!

XY¬À¿1d��[-ÀÂ �d� NSK æç!

(2)�,R�T�¥���

�[³CÛñ��*����ÇEF�[Õ�Ø

¯��zUú�/=EF�ØÙ�¢¯!(Ä 12)

  ¼�[³CÛñ�Ñ-��-�EFP[ÕZ=

k¯×¢¯ �d� NSK æç!

É8-��*�w�M6×1 �®3ºÂ �ªX

M6×0.75 ��[³CÛñEF��-Þ!NSK 


:ùúÀÂ�d�ú!

B CA

M6×0.75

3

SF

M6×0.75

LF

M6×0.75

Rc1/8 Rc1/8

L L L

L L

L

: 11&�,b��>óR¤�ªö

# 11

   �[³C²ñ Ñ-��-�
 *� ��æ� <ÛZCÛñ

   L�� L��
  ��   5 –
 

NS15
 Ú NSK K1 10 –

  x�´ * –
  gh * –
  ��   5 –

 NS20 Ú NSK K1 10 –
  x�´   8 –
  gh   8 –
  ��   5   6
 NS25 Ú NSK K1 12 11
  x�´ 10   9
  gh 10   9
  ��   5   6
 NS30 Ú NSK K1 14 13
  x�´ 12 11
  gh 12 11
  ��   5   6
 NS35 Ú NSK K1 14 13
  x�´ 12 11
  gh 12 11

*)ªXEF-Þ�d� NSKæç!


�Amm

C )F: NSK K1 [Õ;�� (ö��[Õ;�÷)à (öNSK K1 1Î�a�÷V1×NSK K1%e )à (öHgäa�÷V2×2)!

V1V2V2

N
V1

L

NSK K1

NSK K1
2 

L

NSK K1

V1 V2

 

N



A165 A166

NS^¿
N

S
$
�

# 18&wx��÷T|TH{5}

(3)�=>

`������4EFx�´ �d,-�� 14

Å~��£x�´!(Ä 14)

`��Ñ���4EFgh �d,-
�Ä 14 

Å~�ghF�!

(4)F�

`��Ñ���4EFgh �d,-
� 15Å

~�ghF�!(Ä 15)

ghEFá�¼�[³C³ñFÛØÙ �ªX


Ä 15Å~�-ÞhÎ!

*) <Û*��[³CÛñ�-ÞEF�d� NSKæç!

# 15&F��T

 *� xÄ*� a�Ie

  ¤-Þ :-Þ V4

 NS15 LS15PT-01 * 3

 NS20 LS20PT-01 LS20PTC-01 2.7

 NS25 LS25PT-01 LS25PTC-01 3.2

 NS30 LS30PT-01 LS30PTC-01 4.2

 NS35 LS35PT-01 LS35PTC-01 4.2

# 14&�=>�T

 *� xÄ*� a�Ie

  ¤-Þ :-Þ V3

 NS15 LS15WS-01 * 2.8

 NS20 LS20WS-01 LS20WSC-01 2.5

 NS25 LS25WS-01 LS25WSC-01 2.8

 NS30 LS30WS-01 LS30WSC-01 3.6

 NS35 LS35WS-01 LS35WSC-01 3.6

 *� ÖÂxÄ*�

 NS15 LS15FS-01
 NS20 LS20FS-01
 NS25 LS25FS-01
 NS30 LS30FS-01
 NS35 LS35FS-01

(7)wx��

23£��Ø�:
� 18Å~�23£�%ÂÖ

Â!%ÂÖÂw�\�WF: A55YÄ 7.7Å~

�23£�%Â\����®¯ (M1�M2)} 2ë

�M2 -�hµ 2�!

23£��: 4 �Í'®¯�hµ!

$���Ñ���4ÖF23£� �d8-

� 18�23£�%ÂÖÂ!


K��ÁÂw8- NSK K1�x�´�gh�%

ÂÖÂ�¢�®¯¤ 8-�dæç NSK!

����,�lEF � z23£�I4�


A56 YÄ 7.10 Å~�['h�ÅB¤ 8-»)

«�%Â!�ùF&'������Ø¯Ð:E

F��-®¯�23£�k�EF&¢«���

k!��Ø¯�®3��ÖF�WL �Ô NSK

45!

(6)�=>(5)��¥��R��

NSK=Br�� 16Å~�~�«�´!

# 17

 $� *�

 NS NS20cNS25cNS30cNS35

# 16&��¥��R��

??*� ��EF 'Ùx

  ®B Ä*� #Q%e

 NS15 M3 LG-CAP/M3 20� /Q

 NS15 M4 LG-CAP/M4 20� /Q

 NS20 M5 LG-CAP/M5 20� /Q

 NS25cNS30 M6 LG-CAP/M6 20� /Q

 NS35 M8 LG-CAP/M8 20� /Q

: 16

: 14&�=> : 15&F�

(mm) (mm)

V3 V4

2



A167 A168

NS^¿
N

S
$
�

# 19&wx��ÂÃ

# 20&� (BL)_>wx���Úi

wx��øùú}

 J  A  S  1 5  L  0 8

wx��

A,ûüwx��

B,£rwx��

LSwx��

BLL_ (�_ )

�5

����ÂÃú}

: 17&wx��ÂÃ:

mm

mm

wx���ÂÃ#

NS^¿
Lmax
Lmin

M2M1

h1
H

E

P

a
W

b

  H h1 E W P a b BL  M 1  M 2

 JAS15L 23.5 18.9 4.6 43 10 8 16.5 17 M3 5 M3 14

 JAS20L 27 21 6 48 10 13 19.7 17 M3 5 M2.5 14

 JAS25L 32 25 7 51 10 15 23.2 17 M3 5 M3 18

 JAS30L 41 32 9 66 15 16 29 17 M4 6 M4 19

 JAS35L 47 36.5 10.5 72 15 22 33.5 17 M4 6 M4 22

 
  BL  2 4 6 8 10 12 14 16 18 20

  Lmin 34 68 102 136 170 204 238 272 306 340

 JAS15L
   106 212 318 424 530 636 742 848 954 1 060

  Lmax 140 280 420 560 700 840 980 1 120 1 260 1 400

 JAS20L
   106 212 318 424 530 636 742 848 954 1 060

  Lmax 140 280 420 560 700 840 980 1 120 1 260 1 400

 JAS25L
   106 212 318 424 530 636 742 848 954 1 060

  Lmax 140 280 420 560 700 840 980 1 120 1 260 1 400

 JAS30L
   176 352 528 704 880 1 056 1 232 1 408 1 584 1 760

  Lmax 210 420 630 840 1 050 1 260 1 470 1 680 1 890 2 100

 
JAS35L

   176 352 528 704 880 1 056 1 232 1 408 1 584 1 760

  Lmax 210 420 630 840 1 050 1 260 1 470 1 680 1 890 2 100

C ) BL% 3c5c7ß(%ã=-Õ)� BL�%ãÕ4�àáPB 2"§!



A169 A170

NS^¿
N

S
$
�

9.H{5}

*�ñ�á�}�Ë4�����k�u�ÆÇâÛKLZ�*�Äj�u�!

WL d-ù�xÄ*�Ø~!


ªX*Ó
cæ�67�rj«� �d{|P���4u�Bõ��+!

(1)fg«¬��H{5}

# 21& ¡�#���|}

 W  � «  �

 C ���¾¿ (NSK��12 )

 K ¬À¿

 D ���¾¿ +�¯ß�

 H ¬À¿ +�¯ß�

 Z q�c��

# 22&�i|}

 ��j2 �� (¤�[
q NSK K1) :�[
q NSK K1 :°�cijJPJ- NSK K1

 .���2 P3 K3 F3

 .��2 P4 K4 F4
 ��2 P5 K5 F5
 ���2 P6 K6 F6
 D»2 PN KN FN

 ��2@A� PH KH FH

 D»2@A� PC KC FC

@A�����[ÕÖ� xÄ*�ò�¢HI��=$Õ�!

�¢W� TA�¥¦�cZA��¢�cHAw�¢� ([e A160)!

C ) ca�[
q NSK K1�d[e A38YcA61Y!

  NS 30 1200 AL C 2 -     P5 3 
$�5

��

��;� (mm)

[ÕÒ�W� ([e A158)

12c�¯ß�W� ([e� 21)
C:���¾¿ (NSK��12 )cKA¬À¿12

�¢W� ([e A160)
0AZ0c1AZ1c3AZ3

��W� ([e� 22)

�4��u�
�4�»ZxÄ*�w!


ë���[Õ%

  N A S  30 AL S Z  -K
[Õ
�$�W�

NASANS$� [Õ
�

��

[ÕÒ�W� ([e A158)

U�W�
-KANSK K1EF�

-FAá+�nyz +AS2�[³

-F50Aá+�nyz +LG2�[³

�¢W�
¤W�A�¥¦�cZA��¢�cHAw�¢�

12W�

¤W�A���¾¿ (��12 )cSA¬À¿12

  N1S 30 1200 L C N -     PC Z

(2)§¨��H{5}

,X®��H{5}

��
�$�W�

N1SANS$� ��
�

��

��;� (mm)

��Ò�W�
LA��cTALS15EF�M4æ�

12c�¯ß�W� ([e� 21)

�¢W�

TA�¥¦�cZA��¢� (w�¢»- )([e A160)

��W�
PHA��2@A�

PCA$:D»2@A�

�4��u�
�4�»ZxÄ*�w!

*á-æ�W�
NA,á-Òæ�cLAá-æ�:

*ªXá-æ���� �d� NSKæç!

��®��H{5}

C ) @A����2 /w�¢���¬`p¬À¿12!



A171 A172

NS^¿
N

S
$
�

B

W

W1

T
K

E

H

MRO

MYO

W2

J

T1

L

MPO

L1

(N )
4-M ×�

T1

L

L1

(N )

2-M×�

NS^¿

10.ÂÃ#

NS-CL (£@�5 /ê5 )
NS-AL (Í@�5 /CD5 )

AL*¢¯Ä ALcCL*»¯Ä

CL*¢¯Ä 

CL*ALcCL* AL*

§¨���®��H{5}

*ªXá-æ���� �d� NSK æç!

 N1S 30 1200 L C N        PC Z
 ��®�^¿|}
N1S,NS^¿ ��®�

ÂÃ

��Úi (mm)

���r|}
L,CD�T:NS15¥��M4Ez

 ¡�#���|} (µÑ# 21)

fg|}
T,Ërð��Z,Ëfg� (£fgãR ) (µÑ A160)

�i|}
PH,�=A§¨�  PC,ýãA§¨�

þ²UFú}
þ²W�*H{5}£×

*©ªEz|}
N,6©ª�Ez�L,©ªEz

§¨�,X®��H{5}

 ,X®��^¿|}
NAS,NS^¿ ,X®�

ÂÃ

,X�r|} (µÑ A158)

4e|}

-K,NSK K1¥��

-F,������ +AS2�,W

-F50,������ +LG2�,W

fg|}

d|},Ërð��Z,Ëfg��H,£fg�

 ¡|}

d|},'�Íï� (CD ¡ )�S,m�� ¡

 NS 30 1200 AL C 2        PC Z
  ^¿�

ÂÃ

��Úi (mm)

,X�r|} (µÑ A158)

 ¡�#���|} (µÑ# 21)

'�Íï� (NSKCD ¡ )�K,m�� ¡

fg|} (µÑ A160)

0 : Z0�1 : Z1�3 : Z3�T : ZT�Z : ZZ�H :  ZH

�i|} (µÑ# 22)

þ²UFú}
þ²W�*H{5}£×

®u���,X_

W

B

T

K
H

E

W2 W1

MYO

MRO

L

L1
2-M×�

(N )

T1

4-M×�

L

L1

(N)

T1

h
H1

L0

G

F

n×F

d

D

J

(G)

Mpo

D

H1

L0

n×F

F

(G)G

W1

d

h

 NAS 30 AL S Z -K

H E W2 W L L1 K T T1 N W1 H1 F

G

( ) (kg/m)(kg)
L0max

(  ) SUS

(N m)
   MRO MPO MYO

    (1 ) (2 ) (1 ) (2 )d×D×hB J M× ×�

mm

 NS15CL 24 4.6 9.5 34 40.4 26 — M4×0.7×6 23.6 19.4 10 3 6 3 15 12.5 NS15AL     56.8  26  40 
 NS20CL 28 6 11 42 47.2 32 — M5×0.8×7 30 22 12 M6×0.75 5.5 11 20 15.5 NS20AL     65.2  32  48 
 NS25CL 33 7 12.5 48 59.6 35 — M6×1×9 38 26 12 M6×0.75 7 11 23 18 NS25AL     81.6  35  60 
 NS30CL 42 9 16 60 67.4 40 — M8×1.25×12 42 33 13 M6×0.75 8 11 28 23 NS30AL     96.4  40  71 
 NS35CL 48 10.5 18 70 77 50 — M8×1.25×12 49 37.5 14 M6×0.75 8.5 11 34 27.5 NS35AL     108  50  80 

2) ISO (ISO14728-1,14728-2)
 C50 50km  C100 100km 
3) / 
*) NS15 ��¥�µ¶��ÞM3 R (3.5×6×4.5)�CD×

 �áM4 R (4.5×7.5×5.3)�Ý!¼�×

 1) 

 60 *3.5�6�4.5 20 2 000   45.5 24.5 196 20.5 165 0.14 1.4  4.5�7.5�5.3  (1 700)   84.5 77 470 64.5 395 0.20
 60 6�9.5�8.5 20 3 960   91.5 46.5 330 39 279 0.19 2.3    (3 500)   160 133 755 111 630 0.28
 60 7�11�9 20 3 960   164 91 655 76 550 0.34 3.1    (3 500)   286 258 1 470 217 1 230 0.51
 80 7�11�9 20 4 000   282 139 1 080 116 905 0.58 4.8    (3 500)   520 435 2 650 365 2 220 0.85
 80 9�14�12 20 4 000   465 220 1 670 185 1 400 0.86 7.0    (3 500)   865 695 4 000 580 3 350 1.3

2)

[50km] [100km] C0

C50(N) C100(N) (N)
9 100

16 900
13 400
23 500
20 800
36 500
29 600
55 000
40 000
74 500

7 250
11 200
10 600
15 600
17 700
26 100
24 700
38 000
34 500
52 500

5 750
8 850
8 400

12 400
14 000
20 700
19 600
30 000
27 300
42 000



A173 A174

NS^¿
N

S
$
�

NS-JM(£@�5 /ê5 )
NS-EM(Í@�5 /CD5 )

§¨���®��H{5}

*ªXá-æ���� �d� NSK æç!

 N1S 30 1200 L C N         PC Z
 ��®�^¿|}
N1S,NS^¿ ��®�

ÂÃ

��Úi (mm)

���r|}
L,CD�T:NS15¥��M4Ez

 ¡�#���|} (µÑ# 21)

fg|}

T,Ërð��Z,Ëfg� (£fgãR )(µÑ A160)

�i|}

PH,�=A§¨�  PC,ýãA§¨�

þ²UFú} 

þ²W�*H{5}£ ×

*©ªEz|}

N,6©ª�Ez�L,©ªEz

§¨�,X®��H{5}

 NAS 30 EM S Z -K
 ,X®��^¿|}
NAS,NS^¿ ,X®�

ÂÃ

,X�r|} (µÑ A158)

4e|}

-K,NSK K1¥��

-F,������ +AS2�,W

-F50,������ +LG2�,W

fg|}

d|},Ërð��Z,Ëfg��H,£fg�

 ¡|}

d|},'�Íï� (CD ¡ )�S,m�� ¡

 NS 30 1200 EM C 2        PC Z
 ̂ ¿�

ÂÃ

��Úi (mm)

,X�r|} (µÑ A158)

 ¡�#���|} (µÑ# 21)

C:'�Íï� (NSKCD ¡ )�K,m�� ¡

fg|} (µÑ A160)

0 : Z0�1 : Z1�3 : Z3�T : ZT�Z : ZZ�H : ZH

�i|} (µÑ# 22)

þ²UFú} 

þ²W�*H{5}£×

®u���,X_

EM*¢¯Ä

JM*¢¯Ä

EMcJM*»¯Ä

D

H1

L0

n×F

F

(G)G

W1

d

h

G

F

n×F (G)

L0

H1

D

d

( Q2)

W

B

W2 W1

H K

E

T

2-M×

T1

L

L1

( Q2)
4 -M×

(N )

(N)

T1

L

L1

J

MPO
MRO

MYO h

EMEM JM JM

( Q2)

W

B

W2 W1

H K

E

T

2-M×

T1

L

L1

( Q2)
4-M×

(N )(N )

T1

L

L1

J

MRO

MYO

MPO

H E W2 W L L1 K T T1 N W1 H1 F

G

( ) (kg/m)(kg)
L0max

(  ) SUS

(N m)
   MRO MPO MYO

    (1 ) (2 ) (1 ) (2 )d×D×hB J Q2M× ×�

mm

 NS15JM 24 4.6 18.5 52 40.4 41 — M5×0.8×7 4.4 23.6 19.4   8 3 6 3 15 12.5 NS15EM     56.8  26   40
 NS20JM 28 6 19.5 59 47.2 49 — M6×1×9 5.3 30 22 10 M6×0.75 5.5 11 20 15.5 NS20EM     65.2  32 (M6×1×9.5)  48 
 NS25JM 33 7 25 73 59.6 60 — M8×1.25×10 6.8 38 26 11 M6×0.75 7 11 23 18 NS25EM     81.6  35 (M8×1.25×11.5)  60  (12)
 NS30JM 42 9 31 90 67.4 72 — M10×1.5×12 8.6 42 33 11 M6×0.75 8 11 28 23 NS30EM     96.4  40 (M10×1.5×14.5)  71  (15)
 NS35JM 48 10.5 33 100 77 82 — M10×1.5×13 8.6 49 37.5 12 M6×0.75 8.5 11 34 27.5 NS35EM     108  50 (M10×1.5×14.5)  80  (15)

 60 *3.5�6�4.5 20 2 000   45.5 24.5 196 20.5 165 0.17 1.4  4.5�7.5�5.3  (1 700)   84.5 77 470 64.5 395 0.26
 60 6�9.5�8.5 20 3 960   91.5 46.5 330 39 279 0.24 2.3    (3 500)   160 133 755 111 630 0.35
 60 7�11�9 20 3 960   164 91 655 76 550 0.44 3.1    (3 500)   286 258 1 470 217 1 230 0.66
 80 7�11�9 20 4 000   282 139 1 080 116 905 0.76 4.8    (3 500)   520 435 2 650 365 2 220 1.2
 80 9�14�12 20 4 000   465 220 1 670 185 1 400 1.2 7    (3 500)   865 695 4 000 580 3 350 1.7

3) ISO (ISO14728-1,14728-2)
 C50 50km  C100 100km 
4) / 
*) NS15 ��¥�µ¶��ÞM3 R (3.5×6×4.5)�CD×

 �áM4 R (4.5×7.5×5.3)�Ý!¼�×

 1) 
 2)( ) 

3)

[50km] [100km] C0

C50(N) C100(N) (N)
9 100

16 900
13 400
23 500
20 800
36 500
29 600
55 000
40 000
74 500

7 250
11 200
10 600
15 600
17 700
26 100
24 700
38 000
34 500
52 500

5 750
8 850
8 400

12 400
14 000
20 700
19 600
30 000
27 300
42 000


	总目录、A直线导轨 63
	总目录、A直线导轨 64
	总目录、A直线导轨 65
	总目录、A直线导轨 66
	总目录、A直线导轨 67
	总目录、A直线导轨 68
	总目录、A直线导轨 69
	总目录、A直线导轨 70
	总目录、A直线导轨 71
	总目录、A直线导轨 72
	总目录、A直线导轨 85
	总目录、A直线导轨 86
	总目录、A直线导轨 87
	总目录、A直线导轨 88
	总目录、A直线导轨 89
	总目录、A直线导轨 90
	总目录、A直线导轨 91
	总目录、A直线导轨 92
	总目录、A直线导轨 93

